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-ECONOMICS
Paper 11

- Time Allowed : li— Hours] | [Maximum Marks : 100 ‘

Note :— This paper contains of fifty (50) questions with multiple choice answer.

Each question carries two (2) marks. Attempt all questions.

Ls While analysing the marginal productivity theory of distribution, Clark gave

more e‘mphasis to :

(A) Profit maximisation

(B) Demand for labour

(C) Supply of ‘labour

(D) Both démand and supply of labour

2. If X is neutral commodity and Y is’ a normal commodity, the shape of IC

(Indifference Curve) would be -

(A) Straight line‘parallel to Y axis
(B) Straight line parallel to X axis
(C)- L-shaped

(D) Convex to the origin

3. If the price of a commodity is Rs. 18 per unit and by selling one additional
unit total revenue change by Rs. 12, what will be the value of price

elasticity ?

: 1
(A) 3 . (B) 3

IR

©

(D) cannot be measured
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4, As per poverty estimates by expert group led by C. Rangarajan, what
percentage of rural and urban population was below poverty line in

2011-12 ?

(A) 30.9% and 26.4% respectively
(B) 85.5% and 29.6% respectively
(C) 39.2% and 30.3% respectively
(D) 39.6% and 35.1% respectively

5. According to economic survey 2016-17 which of the following States have.
highest infant mortality rates in 2015 ?

(A) Bihar » (B) Madhya Pradesh

(C) Odisha (D) Uttar Pradesh

6. According to census 2011, female literacy rate in India is :
(A) 7045 | ®) 68.13
(C) 65.46 | (D) 53.67 |

7. Read the following statements and choose the correct :

(1) The shape of a unitary elastic demand curve is a rectangular hyperbola
(2) The shape of a unitary elastic demand curve is a rectangular hyperbola
(3) Perfectly elastic demand curve is parallél to the quantity axis

(4) Perfectly inelastic demand curve is parallel to the price axis

(A) (1) and (2) are correct (B) (1), (2) and (4) are correct

(C) (1), (3) and (4) are correct (D) (1), (2) and (3) are correct

T.B.C. : 05/17/ET—II 4
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8. Match the correct pair from List-I and List-II and using the codes given identify

the correct answer :

List-I List-1I

(@)  Perfect competition (1) Underutilization of capacity
(b)  Monopoly (i)  Absence of market power
(¢c)  Monopolistic competition (11z) Interdependence among sellers
(d) Oligopoly - (iv)  Absence of supply curve
Codes :

(@) (b) (c) d)
(A) (i) @) €229) | (iv)
(B) 23] | () @ o u)
(C) (i) (iii) (@) - (iv)
D) @) (z) (iv) (iit)

9.  The interest parity condition is :

(A) When the foreign exchange market is in equilibrium and when deposits

of all currencies offer the same expected rate of return

(B) When the foreign exchange market is in equilibrium and when deposits

~ of all currencies offer the highést expected rate of return

(C) When the foreign exchange market is in equilibrium and when deposits

of all currencies offer the lowest expected rate of returns

(D) All of the above
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10.

11.

12.

A situation where countries export a product at a price below the cost of

production is called :

(A) Price skimming (B) Price dis;rimination,
(C) New protectionism (D) Dumping

If the price elasticity of demand is equal to unity then :

(A) MR énd AR will be equal

(B) MR would be zero and TR would be maximum

(C) MR would be positive and TR would be declining

(Dj MR Wouid be zerd and TR would be increasing

Which of the following is the formula of arc method to measure price elasticity

of demand ?

. AQ P +P, L AQ Q+Q,

@ AP Q,+q B V2

e Q-Q P +B | . Q, +Q; AP

@) PP 'Q, +Q, @) PP "2Q

(A) (i) and (it) are correct ' (B) (i) and (iii) are correct
(C) (1) and (i) are correct (D) only (i) is correct
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10. =% ffa oo weor § f5od 29 S A ¥ FA wiHd R awg w1 w

(A) ®md fRAT (Skimming)  (B) #a fadg

(C) T WHER (D) RkmaEE
11. Ffg A1 &1 *Hd o FHE B SR B T

(A) MR@‘AR%@I@HW l

(B) MR ¥ % s &M g1 TR ifecbad A

_(C) MRW@;HHWTRWW@TH

(D) MR Y& & =R 2 0 TR §¢ W@ o

12. = & @ 9fn =Y i | A & 9w fafy @ g we 7

AQ P, +P, . AQ Q +Q,

@ Ap- Q, + Q, @ Ap- P +B
. Qy-Q, P +P . Q, +Q; AP
@) P,oP @ +Q, @) P3P, AQ
(A) () T (i) I WEl ® -~ (B) () W (i) WEl €
(€) Gi) W Gii) & ¥ ‘ (D) e () WE &

TB.C. : 05/17/ET—II 9 P.T.O.



13.

14,

15.

In the case of perfect price discrimination :

(A) consumer surplus is equal to zero and price is equal to marginal

revenue
(B) consumer surplus is positive and price is greater than marginal revenue

(C) consumer surplus is equal to zero and price is greater than marginal

revenue
(D) consumer surplus is negative and price is less than marginal revenue

One of the major complaints during Doha round negotiations was continuing

existence of large agricultural export and production subsidies was made by

the :
(A) Developed world : (B) Developing nations
(C) European Unions (D) None of these

Stopler Samuelson theorem postulates that :

(A) An increase in the relative price of the commodity raises the returns
or earning of the factor used intensively in the production of the

commodity.

(B) - A decrease in the relative price of the commodity raises the returns or

earning of the factor used intensively in the production of the commodity.

(C) A decrease or increase in relative price of the commodity, the returns
or earning of the factor used intensively in the production of the commodity

would remain constant.

(D) None of the above

T.B.C. : 05/17/ET—II | 10
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16. Which of the following states have lower population density (per square

kilometer) thaq the national average as .per census 2011 ?
(A) Rajasthan, Gujarat, Orissa

(B). Rajasthan, Gujarat, UP

(C) Rajasthan, Maharashtra, Jharkhand

(D) Gujarat, Méharashtra, West Bengal

17.  Which of the following states have decadal growth rate of population
(2001-11) higher than national growth rate ?

(A) Gujarat, Haryana, Chhattisgarh

(B) Himachal Prédesh, Karnataka, Tamil Nadu
(C) Gujarat, Bihar, Tamil Nadu

(D) Haryana, Karnataka, Orissa

18. Who among the following is a not related to estimation of Poverty in

India ?
(A) Dr. YK Alagh . (B) Prof. S.D. Tendulkar
(C) Dr. Vimal Jalan . ‘(D) Prof. D.T. Lakadwala

19. As per 5th EUS 2015-16 rural and urban unemployment rate respectively

in India was :
(A) 6.4 and 7.8 percent (B) 5.6 and 6.9 percent,

(C) 4.8 and 5.7 percent (D) 3.4 and 4.4 percent
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20. Which of the following aspects make India’s New Foreign Trade Policy (2015-

20) unique Qompared_ to earlier FTPs ?
(A) Whole of Government approach
(B) Export promotion

(C) Economic integration

(D) Special economic zones

21. Correct formula for tax multiplier is :

1 b
@A) 1T3a-9 B) 1%

L b

22.  Which one of the following is not correpﬁ ?
(A) APC + APS =1 (B) 1 - MPC = APS
(C) 1 - MPS = MPC | (D) MPC + MPS =1
23.  Who among the following is not related to quantity theory of money ?
(A) Irving Fisher . (B) J.R. Hicks
(©) A.C. Pigou (@ JM. Keynes

TB.C. : 05/17/ET—II 14
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24. Match the following List-I with List-II and select'the answer using codes given

below it :
List I

(@) Milton Friedman
%)  J.M. Keynes
() Irving Fisher
(d) John Muth
Codes :

@  ®
w o @
®) G )
© () (ifi)

D) (iii) (iv)

(c)
(i1)
@)

@)

(@)

@

(i)

(iii)

(iv)

d)

)

(iir)

(it)

(i1)

List II
Equation of exchange
Rational expectation
Money wage rigidity

Natural rate Qf unemployment

‘25. Shut-down point of any profit maximising firm would be when :

(A) AR > AVC

(C) AR = AC

T.B.C. : 05/17/ET—II
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26.

27.

28.

29.

Rent-seeking behaviour is :

(A)
(B)
©)

(D)

Actions taken by households or firms to preserve positive profit
A practice by the household to exploit the tenant
An action taken by the landlords to raise the rent for their land

Both (A) and (C) are correct

Imposition of tariff will :

(A)
(B)
(©)
(D)
The
(A)
(®)
The

(A).

(B)

(®)

(D)

Increase price in domestic market

Reduce quantity consumed

Expand domestic production

All of the above

quota restricted trade in textiles was known as :
TRIPS (B) MFA

GATS | - (D) TRIMS
main difference between a tariff and subsidy is :

The tariff changes the price of imports, the subsidy changes the quantity
of imports

The cost of tariff is born by producers and benefit of subsidy by

consumers
Only tariff will reduce consumer’s surplus

None of the above

T.B.C. : 05/17/ET—II 18
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30.

31.

32.

LM curve slopes upwards from left to right because :

(A) Given the money supply, when income increases transaction demand for

money increases

(B) Rise in interest rate leads to increase in income

(C) When income increases people borrow more money, therefore bank raises

interest rate
(D) Investment demand increases
IS curve will shift to left because of :
(A) Contractionary fiscal policy édopted by thé Govt.
(B) Reduction in net exports
(C) Reduction in public expenditure
(D) (A), (B) and (C)
PC Mahalanobis plén was adopted from which of the growth Iﬁodel :
(A) Harrod-Domar Model |
(B) Ranis-Fei Model
(C) Lewis Model. of Economic Growth

(D) G. Feldman Model

T.B.C. : 05/17/ET—II 190
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33. R. Coase’s theorem deals with :
(A) Public Goods pricing
(B) Internalisation of Externalities

(C) Economic efficiency of an economic outcome in the presence of

externalities
(D) None of the above
34. A fall in the money supply would :
(A) Shift the IS curve rightward
(B) Shift the LM\ curve rightward
(C) Shift both LM and IS curves leftward
(D) Shift the LM curve leftward

35. As per economic survey 2017-18, top one percent of Indian firms accounts

for :

(A) 55 percent of total rexports froin India
(B) 48 percent of total exports from India
(C) 38 percent of total exports from India

(D) 19 percent of total exports from India

T.B.C. : 05/17/ET—II 22
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34. TH O & A 9
(A) IS % et R T
(B) LMaﬁt{ma‘Rf@ﬂ%m
(C) LM@ISaﬁwaﬁfﬁnm@‘ﬁ
(D) LM a% st &R fewesm

35 enfeis TEO 2017-18 F FTER, A H Th Wawd WA 1 ARG § B A Frafa
7 femerl ¥

(&) 55 SRRE W @ PR
(B) 48 Wiaw W ¥ wo fafa o
(C) 38 Wiwm ¥R § o Fafa &

@ 19 vhew W § w9 Pl @

T.B.C. : 05/17/ET—II" ~ 23 | | P.T.O.



36. - Prof. Richard Thaler got -Nobel Prizev in 2017 for his work .on 3
(A) Analysis of consumption and poverty |
(B) Limited Rationality
- (C) Derivative and options
(D) Contract theery
37. Effective Revenue deficit is :
(A) Difference between'Rev'enue Deficit and Interest Pasrment
(B) Difference between Revenue Deficit and Recovery of Loans
- (C) Difference between Revenue Deficit and Creation of Capital Assets
(D)‘ Difference between Revenue Deficit and Publie' Debt.
" 38. What determines pfopensity to consume ?
(A) Rate of interest : (B) Capital gains
(C) Wealth (D) All of the above

39. Given the consumption function C = 100 + 0.68 Y, ;, I = 150 crore,

G = 100 crore, T = 100 crore, what will be the value of multiplier ?

25 , 25
(A) I | (B) 3
50 , 50
©) g | (D) ‘3‘2-
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37. YOI U9 W €
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(©) Wamwwmwwﬁm
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38. UM wgfw ® fwie s ® o
(A) .maﬁﬂ | (B) Ysima @4
© o ¥ wh

39. &anﬁwmtﬁaa0=100+o.68¥d,ﬁém1=150@3,14@1%6@
G = 100 FUs, X T = 100 Fg § J, TNF & qed d R

25 : 25
(A) T (B) 35
50 50
(®) g (D) 3
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40. As per budget estimatesv 2018-19 target for fiscal deficit is :
(A) 3.5 percent of GDP (B) 8.3 percent of GDP
(C) 3.1 percent of GDP (D) 2.8 percent of GDP

41. AMRUT programme aims a;c g
(A) Providing water supply to all households in 500 cities
(B) Providing water supply to BPL households in all cities
(C) Providing water supply to 560 most backward districts
(D) Providing water supply to all households in 600 districts

49. - According to union budget 2018-19 share of indirect taxes and direct taxes

in total receipts respectively :
(A) 45 percent and 35 percent (B) both are 35 percent
(C) 35 percent and 25 percent (D) 38 percent and 32 percent

43. Which of the following group of states have sex ratio lower than the National

average as per census 2011 ?

(A) Maharashtra, West Bengal, Jharkhand
(B) Gujarat, Orissa, Maharashtra .

(C) Maharéshtra, Gujarat, Madhya Pradesh

(D) Maharashtra, Gujarat, Jharkhand
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40. 2018-19 & W IAM H AR TTHING TR H @ §
(A) S F 35 (B) S.ehdt. =1 3.3 wlaye
(C) Ed. & 3.1 i (D) shErd. =1 2.8 wfowd
41. AMRUT I &1 ¥ ¥
(A) 500 i # mft ewdi A U H MY wN
(B) wsft 7w # et Y@ & AR et # wEl #oemfd e
() w=g fuse 500 f5a & wrt =1 omgfd e
(D) 600 i & wefi eeell #1 wr H emufd T

42. Y F92 2018-19 F IHER Ho Wi W AUEY TS FAG HU A1 feew

hHTI:
(A) 45 wfawm w 35 wfave ® (B) =Hf & 35 wfavm %
(C) 35 wfawm wd 25 wfawm & (D) 38 wfawm @ 32 wiaya B

43. ﬁﬂﬁhﬂﬁﬂﬁ*ﬁﬂ%ﬂ?ﬂllﬁ@ﬂ%@ﬂﬁﬂ%ﬂ@q%
AFAT ?

(A) TR, UfYed &, FREvE
(B) TSWId, SEIHI, HENI®
(C) WERTS, oM, HeA WeHl

(D) Werreg, o, FREve
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44.

. 45.

46.

47.

Who among the following is not among the regulators of financial sector in

India ?

(A) Forward Market Commission of India
(B) CCI

(C) IRDA

(D) SEBI

If a group of data has only one mode and its value is less than that of mean,

it can then be concluded that the graph of distribution is :

(A) Symmetrical (B) Skewed to the left
(C) Skewed to the right D) Platykurtic

Which of the following is not an advantage of using median ?

(A) Extreme value effect the medium less strongly than they do to mean

(B) A median can be calculated qualitative description

(C) Median can be calculated for every set of data even for sets of data

continuing open ended classes
(D) None of the above
The differénce between first quartile and the third quartile is :
(A) Range (B Intex.'quartile range

(C) Fractile , (D) None of these
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44.

45.

46.

47.

T.B.C.

frafafeq § ¥ smw fodg &5 @1 fams = % 2
(A) YRAHE TEE SN STEE

(B) Rda wfaeme! amdm

(C) ol frm T fam Wi

O) sl R A
qﬁaﬂ#@ﬁﬁwﬁmwﬁW(Mode)%afﬂmwmwmean)
3 ¥ A e P @ ¥ e de w e

@ wmr B) for o @i &

© wfeft s foom & @) vk

T BT BeR HftAE O T % 7

(A) aﬁﬁ%ﬁmwﬁwmmmﬁwﬁwumm%

®) qﬁwmavﬁﬁmﬁmﬁmm%
(©) Wmm@nwa@ﬁﬁﬁmmm%mq@aﬁm%
(D) v}wﬁrrrfwaﬂ%uvr%
uma@ﬁmaquﬁaagﬁmﬁwﬁﬂ%%

(A) IR | - ®B) ma@ﬁmm

©) R | (D) TR wE T
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48, If events A and B are mutually exclusive then :
P(A or B) = P(A) + P(B)

How does the calculation‘ of P(A or B) change if A and B are not mutually

exclusive ?

(A) P(AB) must be subtracted from P(A) + P(B)
(B) P(A) + P(B) be multiplied by P(AB)

(C) P(A) + P(B) be divided by P(AB)

(D) None of the above

49. If a = 0.01 for a two tailed hypothesis test using the z test, the critical

value 1s :
A) + 1.90 B) + 1.96
©) + 2.00 | D) + 2.58

50. The Laspayre’s index and Paasche’s index are examples of :
(A) Weighted quantity index
(B) Weighted index number only
| %C) Aggregate ‘index number only

(D) Weighted price index only
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48. 9% 99 (Events) A 3R B YW@ o4 I1 € @ :
P(A =1 B) = P(A) + P(B)

Iz A R B WER 3= g9 T & @ P(A @ B) & MO A w1 WRedA
IR ?

(A) P(AB) &1 PA) + P(B) A ¥ U TS
(B) P(A) + P(B) # P(AB) ¥ Trn m qSm
(C) P(A) + P(B) & P(AB) § 9 &A1 W&
D) SEF § q wE T

49, aﬁ:a:O.OlW'@zﬁWW@awqﬁmm%amm%

A) 1+ 1.90 B) + 196
C) + 2.00 D) + 2.58
50. TIEIERE YUk a1 WS YEeim T & TR

(D) WG qed Yo
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